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2. (15 43)

‘b;(t) =-2x(t)+e®s(r-3)

t

dx(t)

" ——2y(t)+eh(t-3) =2y () +te” cos(t)u(t)

h(e)=e*(t+3)e cos(t +3)u(t+3)
3. (154) #%:
y[n] = x[n]*hl [n]*{h2 [n]—h3 [n]} = x[n]*{112 [n]—h3 [n]} *hy [n]
= {a"u [n]—aq""u [n —1]} *hl[n] = ci[n]*h1 [n] =(-1/72) cos[Sn]u[n]
4. (154)) #%:
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H(jow)={jw+3
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y(¢) =%cos(3t +/4)
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6. (204> w(t)=x"(t)+2x(t)cos5nt +cos Sut
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7. (2547) f#:
(l)H(s)=——?——, —3<Re{s} <2
(s+3)(s—2)
(2)h(t)=—%e'3'u(t)—§-e2‘u(—t). BRGRTTR. M.
d*y(t) dy(t)
‘3>—d;z—)+—dj—-6y(‘)=2X(t)
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8. (254}) f&:
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xlln]=2'u[n] il xz[n]=-2"u[—n—1]
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x[n] = —2"u[-—n-l]

(FESERF) RE K3 W E3 W



